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General Instructions :

1.
2.

Candidate must write his/her Roll Number on the ﬁrst page of the question paper.
Please check the questmn paper to verify that the total pages and total number

of questions contained in the question paper are the same as those printed on

the top of the first page. Also check to see that the questions are in
sequential order.
For the obJectwe type of questlons you have to choose any one of the four
alternatives given in the questlon i.e. (A), (B), (C) or (D) and indicate your correct
answer in the answer-book given to. you.
All the questions including objective type quest.lons are to be answered within
the allotted time and no separate time limit is fixed for answering objective type
questions.
Making any identification mark in the answer-book or writing roll number
anywhere other than the specified places will lead to disqualification of the
candidate.
Write your question paper code No. 36/HS/3—A on the answer-book.
(@) The question paper is in English/Hindi medium only. However, if you w1sh
you can answer in any one of the languages listed below :
English, Hindi, Urdu, Punjabi, Bengali, Tamil, Malayalam, Kannada, Telugu,
Marathi, Oriya, Gujarati, Konkani, Manipuri, Assamese, Nepali, Kashmiri,
Sanskrit and Sindhi.
You are required to indicate the language you have chosen to answer in
the box provided in the answer-book.
(b) If you choose to write the answer in the language other than Hindi and
English, the responsibility for any errors/mlstakes in understanding the
question will be yours only.
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ECONOMICS
(3reforre)
(214)
Time : 3 Hours] . : [Maximum Marks : 100
w3 W] - [quies : 100
Note :(— (i)  All questions are‘ compulsory.

(@) Marks allotted to each question are indicated against it.

(iti) Each question from Q. Nos. 1 to 8 has four alternatives (A),
(B), (C) and (D) and out of which one is the most appropriate.
Select the correct answer and write it in your answer-book |

against the number of question.
M - (@) wit v afed
() YOk W oiw I9H WO qwd M ¥
(iii) TGS Y HHH 1 ¥ 8 Th, Tk Y T 9R Jhfcuw IW
(A), (B), (C) ¥R (D) k& ™ & fod ¥ = wdt o waifuw faa
1w W IR awn o Sw-gfe § S8 W wEe @ 9
fafed 1
1. Rama and Surya use pens in a public examination. If Rama- uses a
pen costing Rs. 10 and a pen used by Surya costs Rs. 150, the pen
used by Surya is : | - 1
(A) a necessity
(B) a luxury
(C)  comfort
(D) none of the above
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(A) OISR ORISR
B) faenfaar =t a5g
(C) oMWW Ht ag
(D) 3Swgw ¥ | «E

2. In a two-wheeler company, the number of two wheelers produced
during the year 2005 was 450. In 2006, the number of two wheelers
produced in that company was 400. During 2005-06, the fuel consumption
of two-wheelers of that company changed from 45 kmplitre to 50
kmplitre. So during 2005-06, the company achieved : 1
(A) Only qualitative increase in production
(B) Only quantitative increase .in production
(C) Quantitative decline and qualitative increase in production
(D) Qualitative decline and quantitative increase in production
ww qufe A FEE § ad 2005 # Fiffa gufem e w1 e 450 ot |
2006 ¥ 39 ®mwAl § fafifa gufen sl 1 Wem 400 #t 1 ad 2005-06 H
I S8 e & gofen Al @t e mwa 45 felfaer @ ofafta dw
so fwdi/faer & w1 3 aﬁzoosos%ﬁmwﬁ%mfmm
(A) URA H Had U 9
(B) IEA H daw AEHE IS
(©) SERA § WeEs B adn s gt
(D) SawRH # U wH qm A gfs

8. What establishes link between producers and consumers ? 1
(A) Production " (B) Consumption
(C) Distribution (D) Investment

214/36/HS/3-A | 4



IAEH T uEel @ fi9 ® wE BA Y war § 2

(A) SAERA | (B) 3udm
(C) faatm (D) fraw
4. In India, cycles are produced by : 1

(A) - Private firms
(B) Government firms
(C) Both private and government firms
(D) None of the above '
wyid # wfedl @ fmiv fFa s ¢
(A) WEaE wH g
(B) TRl WH gN
(C) mﬁzamwﬁﬁmaﬁﬁm ,
(D) 39dF H§ @ *E |
5. The most important component of savings in an economy is :1
(A) Savings of Firms ‘
(B) Savings of Government
(C) Savings of Households
(D) None of the above
ot srfemae # s &1 woifus AREE WeH ©
(A) waf & I
(B) ¥R Wt F=d
(C) i &t F=d
(D) 3w # J FE T
6. Which of the following is unproductive savings ? 1
_ (A) A huge amount of cash balance kept in house by a businessman
(B) Buying additional raw materials by a producer from her savings
(C) Buying a motorbike by a vegetable seller from his savings for
transporting vegetables S

(D) Purchase of a plot nearby an urban area

214/36/HS/3-A 5 ~ pTO.
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(A) T ORI R R H W@ g wEt "l H Ao (TFe)

(B) AU o=d 9§ UH IACH R Afdfed e "l @

(C) Eﬁﬁﬁﬁmmmﬁqdd@leqlﬁﬁmlﬂéqlﬂaﬁm@m
EARRCEGE |

(D) B & & U TH Wie w1 @l

The following is generally used to solve central problems in a socialist

economy : , 1
(A) Price mechanism »

(B) Centralised planning

(C) Both price mechanism and centralised planning

(D) None of the above

Th GHNER SR § Sy nensi # wa @ fou frefoted @
A wa fee S ® e

(A) IHd

(B) &=iea fEsE .

(C) &md F qU HIdhd faeH ﬂﬁ

(D) 3w # ¥ ®E T

When people become unemployed due to insufficient demand for
goods and services in the economy, it is called : 1
(A) Seasonal unemployment |

(B)  Frictional unemployment

(C) Technological unemployment

(D) None of the above

S8 fordl sredeqaear § A qu1 Jaisli F UAi WM & HRU @ SRS
8 S €, @ I8 wHuw ©

(A)  HrEdt SeR

(B) et SUSTR

(C) WrEnfet STt

(D) swded # @ wE
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10.

11.

12,

13.

14.

List a few goods and services required while using a motorbike ? 2
TF HIZEEE JAT HQ GHT SEvEE (S aegel qen densi w1 g
CalE il |

Differentiate wants from desires with examples. 2

ammaﬁammaﬁﬁmﬁ%amﬁaﬁﬁﬁl

When a country is on the path of development, its people’s wants also

undergo changes. How ? Describe with two examples. 2
59 ®E QW famE & oun wospRR @ ¥, @ swe At ® swevamant
ot 9eed S § 1 hE 2 @ Qe gied ool wifad

How are wholesalers different from retailers ? 2

d% fagm geu foshar & fhg wor P € 2

How in any two ways telephone as communication tool links producers

and consumers ? ‘ 2

wmﬁ(%)%mﬁﬁﬁw@awwﬁm@%aﬁa
a’rmnﬁwumr@m%7

Give full form of the following terms : : 2
(1)  FDI and

(i1)  FCIL

frfafed 9si @1 @@ w9 A3 .

(i) FDI 3R

(ii) FCL
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15.

16.

17.

18.

19.

20.

How is savings account different from current account in a bank ? 2

@ §% # w=q @ oA @ ¥ few oy e ® 2

Give two important characteristics of resources. 2

oAl wt | Aol foivard sard |

Define ‘Terms of Trade’ between countries. 2

i & g # ‘our-fefa! & wRafea wife3

What are exhaustible natural resources. , " - 2

gaeliedl Wiehfas HEEH PH-HA § 7

Explain the importance of any two of the following activities in an economy
with examples : ' 4

0, Production ' (ii) Consumption

(z11) Investment.

T wderaed § frafafaa § ¥ fd @ frell & oee @ el wfed

(i) IURA | (i) SUM
(iii) fa
Distinguish between the following with relevant examples : 4

(i) Consumer goods and‘ Producer goods;

(i1) Private goods and Public goods.

3 el @ Fieffed @ e s R
() SudE aed den SRE Ty |

(i) fet (uEae) agd qdr wewte agqy |
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21.

22.

23.

24.

Explain with ‘examples the classiﬁcation of markets on the basis of

competltlon 4

uﬁﬁﬁm%wwmw%wﬁmwﬁmmwﬁl

Suppdse you wish to sell petrol and wheat in Indian markets. Describe
different ways of pricing these commodities in India. 4
A AT A W SR 0 qm A S aey € ) yRa § 39 awgeil
3 e fuife w0 @ fafe w09 @ qoEEd |

Suppose you are a businessperson. Hlustrate with examples, how

insurance would help your business. 4

‘mmmwm%lmmmﬁﬁaﬁmmm

ﬁhwmﬁ’

Read the following table, which shows India’s population during 1951-

2001 and answer the questions that follow : 4
Year Population |
(in millions)

1951 ' » 361.1

1961 . 4392

1971 - 548.1

1981 . 683.3

1991 , 846.4

2001 ' 1,027

(i) Draw a bar chart of the above table. ‘
(ii) Has India’s population increased during 1951-2001 ? Explain.

214/36/HS/3-A 9 - P.T.O.
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26.

-

-ﬁmﬁ@awﬁﬁw@qsﬁwm—zom%%wﬁaﬁwﬁwﬁ?ﬁ
T 9w SEw R G & sw dfeg

(10 W@ )
1951 361.1
1961 , 439.2
1971 - 5481
1981 . 683.3
1991 o - 8464
2001 1,027

() 39 URON %1 §€ IN@ Wity |
@) 1951-2001 % WA TN YR H wrEEM § gfe § ¢ 7 wHEEd |

“One of the main reason for decline in poverty in rural India is the
implementation of poverty alleviation programmes assbciated with
employment.” Do you agree with this statement ? Give fwo reasons. 4
“grfior aRa | T W W @7 w1 U@ $RU § A4SR Q@ wEfed
e SEM Y @ @ e 1 9 oY 39 %Y J e ¥ 2 @
FRO G |

Sangeeta bought a colour television set. After 15 days, she finds the
TV not working properly. The shop where she bought the TV neither
refused to repair the set nor replaced it. Describe the procedures she
may have to take as a consumer to protect against being exploited. 4
i@ 3w G elifasm 2 @l 1 15 KA e sw A
W e A MWy 9% gEH T ¥ s Al e @, A @
TR AONA FA Y AN S W@ TR A € W o W ® | Wwu & fawg
W wE A 3@ yiE W v w5 sudiem @ w9 § @@ eI

Th |
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27.

28.

29.

30.

31.

32.

Explain any two economic factors that affect development of a

country. 4
ﬁm%ﬂ%ﬁmﬁwﬁamﬁaﬁﬁ?ﬁaaﬁmmﬁm@l

What is WTO ? How is it different from GATT ? 4
WTO = ¥ ?%GATTﬁmmﬁﬁ% ?

What is Green Revolution ? How did it lead to degradatlon of soil
in India ? 4

Eﬁamﬁaw%7ﬂmﬁa€qm$ﬁvﬁmmaﬁmwmm?ﬁ
T ?

How restraining our consumptioh habits help saving nature ? Illustrate
with a few simple examples from your day-to-day life. 4

TR 3 aied wirafua 9% @ o9yt § fRY yeR e ot ¥ 2
AW FE o ¥ Ho I ROl S WE [Yd BiA |

How is a large-scale industry differentiated from small-scale ihdustry ?
Do you think large-scale industries are important for a country like
India ? Give four reasons. -6

a@ﬁﬁ@ﬁnﬁ@%hﬁmﬂn%mﬁ%ﬁmw%’
wmwmﬁm%ﬁsmﬁ@ﬁ%ﬁma@ﬂmﬁ%mw
§ ? 9 wRu Ny

We know that inflation is an important issue in any economy. You
are an officer who has been asked to collect information on cause and
effects of inflation in your region. Describe in your words about the
cause and effects of inflation and the measures that could be taken

to check inflation. - ' | 6
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83. Give three main features of each of the following economies : 6
() = Socialist economy;
(ii) Capitalist economy.
Frafafa # A yow adeEen B Ae-de v flvad A
(i) TESER] AdeTT;
(@) YSiardt sidemeedn |

34. “Ecdnoinic activities are classified on the basis of nature of production.”
Explain. ‘ 6
‘I W YRR R SR W enfdw fwad wifiga @t € 1
I | |

214/36/HS/3-A 12 y



